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DAILY QUEST:

The football field has a length of 3x2? 4+ 5x + 9 feet and has a width
of 5x% — 2x + 4 feet. What is the area of the football field
represented as a polynomial?
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VOCAB.

Rational Numbers
* Whole numbers

“ Fractions/Values with decimals that terminate or repeat.

“Example: ¢ = 0.8888888868

*Irrationals Numbers

* Values with decimals that are nonterminating or non-repeating.
*Example: m = 3.141592654 ...
e =~ 2.71828182845 ...
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PROBLEM 1:  yoctional T ecatione

Classify as rational or irrational
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PRO BI_EM 2. Find the answer and determine if the answer is rational
) or irrational.

1. #8+15= "]
2. 2+§= Q‘Q
. 59333

4
4. Zti= L{,'Vl?57-...
5. 4+ m= —7.\““561‘

6. V2+12= SLHLI &I

LAl =
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PRO BI_EM 2A. Find the answer and determine if the answer is rational

or irrational.

7. i%: 03
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PRO BI_EM 2B. Find the answer and determine if the answer is rational
" orirrational.

13. V3-v/3 = 3

14. V2 -8 =

15. V6 - V5 = 5. Ll’)‘7 D\ B
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RATIONAL AND IRRATIONALS OPERATION RULES

What happen when you had a rational plus a rational number?

1-3.
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What happen when you had a rational plus an irrational number?
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What happen when you had a rational times a rational number?
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What happen when you had a rational times an irrational number?
lO-] X" \| OV 6”\\’\/6”‘“’5 2;1,{— Cn \(WA’\\ON,\\ cons\ e

What happen when you had an irrational times an irrational number?
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RATIONAL AND IRRATIONALS OPERATION RULES

What happen when you had a rational plus a rational number?
*You always get a rational number.

What happen when you had a rational plus an irrational number?
*You always get an irrational number.

What happen when you had a rational times a rational number?
*You always get a rational number.

What happen when you had a rational times an irrational number?
*You always get an irrational number.

What happen when you had an irrational times an irrational number?

*You sometimes get an irrational and sometimes you a rational.

Lesson 1.2 and 2.2 Page 9



Page 11

Thursday, August 25, 2016 8:30 AM

PROBLEM 3:

Billybob ran 50 feet. His teacher wants him to know how many meters he¢

ran. Convert the 50 feet in’ro(Ll meter = 3.28f€etl
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PROBLEM 3A: GOyt n = | he

Sandy-Sue slept for 20 hours.$He wants to find out how many minutes she
slept. Convert the 20 hours to minutes.

QGN > 60 mir ~ 1200 TS
\ I T

| 200 W\\\prcj/J

Lesson 1.2 and 2.2 Page 11



Page 13

Thursday, August 25, 2016 8:30 AM

EXAMPLE 4:

A cyclist travels 105 kilometers in 4.2 hours. Use dimensional analysis to

convert the cyclist’s speed to@per minufenUse1 mi = 1.6Tkm.
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PROBLEM 4A: Lwdes = 52%0 6

A baseball pitcher throws the ball 101 mph. Use dimensional analysis to
convert the speed of the ball to feet per second.
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PROBLEM 48B:

A box of books weighs 4.10 kilograms for every meter of its height.
Convert this ratio into pounds per foot.

Use 1ft = 0.305 m; 1lb = 0.454 kg
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PROBLEM 4C:

A go-kart travels 21 miles per hours. Convert this speed into feet per
minute.

Use Thr = 60 min; Tmi = 5280 ft
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